

## County of Los Angeles Department of Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

**Project Name: Glendora Mountain Road at Culvert Marker 8.9** 

Project ID: RDC0015640 Bids Opened: 4/2/2013

Office Engineer: Hector Hernandez 626-458-3144

				Engineer's Estimate		(1) Garay Construction, Inc.		(2) John S. Meek Company, Inc.		(3) O'Donnell Construction, Inc.		(4) The Ri	chards Group
(1) Preliminary Bid Amount						\$200,639.00		\$277,521.50		\$280,207.00		\$372,494.00	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
1	IMPLEMENTATION OF BMPS	1	\$1,000.00	LS	\$1,000.00	\$5,000.00	\$5,000.00	\$4,950.00	\$4,950.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
2	TRAFFIC CONTROL	1	\$25,000.00	LS	\$25,000.00	\$41,440.00	\$41,440.00	\$32,780.00	\$32,780.00	\$38,000.00	\$38,000.00	\$10,000.00	\$10,000.00
3	TRAFFIC DRUM PER DETAIL	12	\$100.00	EA	\$1,200.00	\$500.00	\$6,000.00	\$166.00	\$1,992.00	\$120.00	\$1,440.00	\$500.00	\$6,000.00
	'A', PLAN TC, SH. 1												
4	CLEARING AND GRUBBING	1	\$5,000.00	LS	\$5,000.00	\$1,248.00	\$1,248.00	\$12,350.00	\$12,350.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00
5	REMOVAL OF EXISTING INLET STRUCTURE	1	\$2,000.00	LS	\$2,000.00	\$1,872.00	\$1,872.00	\$2,626.00	\$2,626.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00
6	REMOVAL OF CSP	1	\$1,000.00	LS	\$1,000.00	\$312.00	\$312.00	\$2,110.00	\$2,110.00	\$750.00	\$750.00	\$4,200.00	\$4,200.00
7	UNCLASSIFIED EXCAVATION	94	\$85.00	CY	\$7,990.00	\$80.00	\$7,520.00	\$100.00	\$9,400.00	\$80.00	\$7,520.00	\$95.00	\$8,930.00
8	STRUCTURE EXCAVATION	70	\$100.00	CY	\$7,000.00	\$75.00	\$5,250.00	\$67.00	\$4,690.00	\$80.00	\$5,600.00	\$120.00	\$8,400.00
9	STRUCTURE BACKFILL	28	\$110.00	CY	\$3,080.00	\$110.00	\$3,080.00	\$125.00	\$3,500.00	\$135.00	\$3,780.00	\$180.00	\$5,040.00
10	CRUSHED MISCELLANEOUS	60	\$70.00	CY	\$4,200.00	\$125.00	\$7,500.00	\$150.00	\$9,000.00	\$90.00	\$5,400.00	\$135.00	\$8,100.00
	BASE												
11	AC PAVEMENT	71	\$200.00		\$14,200.00	\$440.00	\$31,240.00	\$180.00	\$12,780.00	\$230.00	\$16,330.00	\$190.00	\$13,490.00
12	AC PAVEMENT (DETOUR)	30	\$160.00		\$4,800.00	\$440.00	\$13,200.00	\$215.00	\$6,450.00	\$500.00	\$15,000.00	\$480.00	\$14,400.00
13	AC PAVEMENT (INVERTED SHOULDER)	7	\$350.00		\$2,450.00	\$460.00	\$3,220.00	\$180.00	\$1,260.00	\$230.00	\$1,610.00	\$218.00	\$1,526.00
14	STRUCTURE CONCRETE (PILE CAP)	27	\$900.00	CY	\$24,300.00	\$300.00	\$8,100.00	\$1,012.00	\$27,324.00	\$950.00	\$25,650.00	\$1,500.00	\$40,500.00
15	STRUCTURE CONCRETE (INLET STRUCTURE)	3	\$1,500.00	CY	\$4,500.00	\$800.00	\$2,400.00	\$3,600.00	\$10,800.00	\$2,400.00	\$7,200.00	\$1,500.00	\$4,500.00
16	CONCRETE SURFACE TEXTURE	52	\$40.00	SF	\$2,080.00	\$7.69	\$399.88	\$53.00	\$2,756.00	\$30.00	\$1,560.00	\$85.00	\$4,420.00
17	BAR REINFORCING STEEL	4400	\$2.50	LB	\$11,000.00	\$1.48	\$6,512.00	\$1.80	\$7,920.00	\$2.00	\$8,800.00	\$3.00	\$13,200.00
18	DRILL PILE HOLES, 24" DIA	325	\$80.00	LF	\$26,000.00	\$19.72	\$6,409.00	\$122.00	\$39,650.00	\$125.00	\$40,625.00	\$180.00	\$58,500.00

Project Name: Glendora Mountain Road at Culvert Marker 8.9

Project ID: RDC0015640

Bids Opened: 4/2/2013 Office Engineer: Hector Hernandez 626-458-3144

		Engineer's Es		eer's Estimate	(1) Garay Construction, Inc.		(2) John S. Meek Company, Inc.		(3) O'Donnell Construction, Inc.		(4) The Ri	chards Group	
(1) Preliminary Bid Amount						\$200,639.00		\$277,521.50		\$280,207.00		\$372,494.00	
. ,	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
19	STRUCTURE CONCRETE (SOLDIER PILES)	38	\$400.00	CY	\$15,200.00	\$400.00	\$15,200.00	\$300.00	\$11,400.00	\$680.00	\$25,840.00	\$780.00	\$29,640.00
20	FURNISH STEEL PILES	30100	\$1.30	LB	\$39,130.00	\$0.62	\$18,662.00	\$1.07	\$32,207.00	\$1.00	\$30,100.00	\$1.29	\$38,829.00
21	INSTALL STEEL PILE	12	\$1,200.00	EA	\$14,400.00	\$100.00	\$1,200.00	\$937.50	\$11,250.00	\$1,000.00	\$12,000.00	\$2,500.00	\$30,000.00
22	24" CSP, 12 GAGE	12	\$200.00	LF	\$2,400.00	\$30.00	\$360.00	\$205.00	\$2,460.00	\$350.00	\$4,200.00	\$1,200.00	\$14,400.00
23	CABLE ANCHORAGE SYSTEM PER CALTRANS STD PLAN D87C	1	\$2,000.00	LS	\$2,000.00	\$400.00	\$400.00	\$4,027.00	\$4,027.00	\$800.00	\$800.00	\$8,800.00	\$8,800.00
24	DETAIL 21 (ONE-COAT PAINT)	480	\$4.00	LF	\$1,920.00	\$1.60	\$768.00	\$2.00	\$960.00	\$1.50	\$720.00	\$1.52	\$729.60
25	DETAIL 27B (ONE-COAT PAINT)	920	\$4.00	LF	\$3,680.00	\$1.60	\$1,472.00	\$1.45	\$1,334.00	\$1.00	\$920.00	\$1.08	\$993.60
26	REMOVE DETAIL 21 (PAINT)	950	\$3.00	LF	\$2,850.00	\$1.00	\$950.00	\$2.15	\$2,042.50	\$4.00	\$3,800.00	\$4.85	\$4,607.50
27	REMOVE DETAIL 27B (PAINT)	1840	\$3.00	LF	\$5,520.00	\$1.00	\$1,840.00	\$1.90	\$3,496.00	\$2.20	\$4,048.00	\$3.00	\$5,520.00
28	DETAIL 21 (TWO-COAT PAINT)	470	\$6.00	LF	\$2,820.00	\$3.20	\$1,504.00	\$3.50	\$1,645.00	\$2.20	\$1,034.00	\$1.55	\$728.50
29	DETAIL 27B (TWO-COAT PAINT)	920	\$6.00	LF	\$5,520.00	\$3.20	\$2,944.00	\$2.60	\$2,392.00	\$1.50	\$1,380.00	\$2.89	\$2,658.80
30	CHANGEABLE MESSAGE SIGN	2	\$2,000.00	EA	\$4,000.00	\$1,588.50	\$3,177.00	\$4,485.00	\$8,970.00	\$1,300.00	\$2,600.00	\$2,800.00	\$5,600.00
31	EROSION CONTROL BLANKET	50	\$30.00	SY	\$1,500.00	\$7.84	\$392.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$75.00	\$3,750.00
32	HYDROSEED ESTABLISHMENT	1	\$1,000.00	LS	\$1,000.00	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
					\$248,740.00		\$200,671.88		\$277,521.50		\$280,207.00		\$367,963.00
(3) Local Small Business Enterprise (LSBE) Preference Amount							\$0.00		\$0.00		\$0.00		\$0.00
(4) LSBE Adjusted Amount							\$200,671.88		\$277,521.50		\$280,207.00		\$367,963.00
Comments							REJECTED	APPARENT I	LOW BIDDER				



## County of Los Angeles Department of Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Glendora Mountain Road at Culvert Marker 8.9

Project ID: RDC0015640 Bids Opened: 4/2/2013

Office Engineer: Hector Hernandez 626-458-3144

			Engine	eer's Estimate	(5) Atom Engineering Construction, Inc.								
(1) Preliminary Bid Amount						<u> </u>	\$376,398.00						
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	IMPLEMENTATION OF BMPS	1	\$1,000.00	LS	\$1,000.00	\$5,204.00	\$5,204.00						
2	TRAFFIC CONTROL	1	\$25,000.00	LS	\$25,000.00	\$54,500.00	\$54,500.00						
3	TRAFFIC DRUM PER DETAIL	12	\$100.00	EA	\$1,200.00	\$350.00	\$4,200.00						_
	'A', PLAN TC, SH. 1												
4	CLEARING AND GRUBBING	1	\$5,000.00	LS	\$5,000.00	\$6,500.00	\$6,500.00						
5	REMOVAL OF EXISTING INLET	1	\$2,000.00	LS	\$2,000.00	\$2,200.00	\$2,200.00						
	STRUCTURE												
6	REMOVAL OF CSP	11	\$1,000.00	LS	\$1,000.00	\$2,000.00	\$2,000.00						
7	UNCLASSIFIED EXCAVATION	94	\$85.00	CY	\$7,990.00	\$60.00	\$5,640.00						
8	STRUCTURE EXCAVATION	70	\$100.00	CY	\$7,000.00	\$90.00	\$6,300.00						
9	STRUCTURE BACKFILL	28	\$110.00	CY	\$3,080.00	\$200.00	\$5,600.00						
10	CRUSHED MISCELLANEOUS	60	\$70.00	CY	\$4,200.00	\$91.00	\$5,460.00						
	BASE												
11	AC PAVEMENT	71	\$200.00	TON	\$14,200.00	\$400.00	\$28,400.00						
12	AC PAVEMENT (DETOUR)	30	\$160.00	TON	\$4,800.00	\$640.00	\$19,200.00						
13	AC PAVEMENT (INVERTED	7	\$350.00	TON	\$2,450.00	\$400.00	\$2,800.00						
	SHOULDER)												
14	STRUCTURE CONCRETE (PILE	27	\$900.00	CY	\$24,300.00	\$700.00	\$18,900.00						
	CAP)												
15	STRUCTURE CONCRETE	3	\$1,500.00	CY	\$4,500.00	\$2,000.00	\$6,000.00						
	(INLET STRUCTURE)												
16	CONCRETE SURFACE	52	\$40.00	SF	\$2,080.00	\$60.00	\$3,120.00						
	TEXTURE												
17	BAR REINFORCING STEEL	4400	\$2.50	LB	\$11,000.00	\$2.60	\$11,440.00						

Project Name: Glendora Mountain Road at Culvert Marker 8.9

Project ID: RDC0015640

Comments

Bids Opened: 4/2/2013 Office Engineer: Hector Hernandez 626-458-3144

				Engine	eer's Estimate	(5) Atom Engineering Construction, Inc.							
(1) Preliminary Bid Amount							\$376,398.00						
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
18	DRILL PILE HOLES, 24" DIA	325	\$80.00	LF	\$26,000.00	\$200.00	\$65,000.00						
19	STRUCTURE CONCRETE (SOLDIER PILES)	38	\$400.00	CY	\$15,200.00	\$670.00	\$25,460.00						
20	FURNISH STEEL PILES	30100	\$1.30	LB	\$39,130.00	\$1.50	\$45,150.00						<del>.</del>
21	INSTALL STEEL PILE	12	\$1,200.00	EA	\$14,400.00	\$1,300.00	\$15,600.00						
22	24" CSP, 12 GAGE	12	\$200.00	LF	\$2,400.00	\$250.00	\$3,000.00						
23	CABLE ANCHORAGE SYSTEM	1	\$2,000.00	LS	\$2,000.00	\$3,700.00	\$3,700.00						
	PER CALTRANS STD PLAN												
- 2.1	D87C				<b>*</b> 4 . 2 2 2 2 2 2		2010.00						
24	DETAIL 21 (ONE-COAT PAINT)	480	\$4.00	<u>LF</u>	\$1,920.00	\$1.70	\$816.00						
25	DETAIL 27B (ONE-COAT PAINT)	920	\$4.00	LF	\$3,680.00	\$1.20	\$1,104.00						
26	REMOVE DETAIL 21 (PAINT)	950	\$3.00	LF	\$2,850.00	\$4.70	\$4,465.00						
27	REMOVE DETAIL 27B (PAINT)	1840	\$3.00	LF	\$5,520.00	\$2.50	\$4,600.00						
28	DETAIL 21 (TWO-COAT PAINT)	470	\$6.00	LF	\$2,820.00	\$2.50	\$1,175.00						
29	DETAIL 27B (TWO-COAT PAINT)	920	\$6.00	LF	\$5,520.00	\$1.70	\$1,564.00						
30	CHANGEABLE MESSAGE SIGN	2	\$2,000.00	EA	\$4,000.00	\$4,900.00	\$9,800.00						
31	EROSION CONTROL BLANKET	50	\$30.00	SY	\$1,500.00	\$90.00	\$4,500.00						
32	HYDROSEED ESTABLISHMENT	1	\$1,000.00	LS	\$1,000.00	\$3,000.00	\$3,000.00						
Unit Pr	rice Total				\$248,740.00		\$376,398.00						
(3) Local Small Business Enterprise (LSBE) Preference Amount							\$0.00						
(4) LSBE Adjusted Amount							\$376,398.00						